
 ●10 Erin uses 2
8
 yard of string to make 1 bracelet. Erin will make 6 bracelets.

a. How many yards of string will Erin use to make 6 bracelets? Show or explain how you got 
your answer.

 Erin uses 3
8
 yard of string to make 1 necklace. Erin will make 5 necklaces.

b. How many yards of string will Erin use to make 5 necklaces? Show or explain how you 
got your answer.

c. The total number of yards of string Erin will use for 6 bracelets and 5 necklaces is 
between what two whole numbers? Show or explain how you got your answer.


